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QUESTION 1

You want to maintain a longer retention time of your Snapshot copies on a NetApp ONTAP system in a remote data
center versus the NetApp ONTAP system in your primary data center. Which NetApp ONTAP feature enables you to
accomplish this task? 

A. FlexGroup volume 

B. SnapCenter 

C. SnapVault 

D. SnapLock 

Correct Answer: B 

 

QUESTION 2

Your company has an on-premises solution based on NetApp AFF storage with ONTAP software. A lot of data is
infrequently accessed and can be moved to a cloud solution. The company prefers an opex business model. In this
scenario, which NetApp solution satisfies these requirements? 

A. FabricPool 

B. SnapVault 

C. Cloud Sync 

D. Cloud Tiering 

Correct Answer: D 

Reference: https://www.netapp.com/blog/lift-but-dont-shift-with-netapp-cloud-tiering/ 

 

QUESTION 3

Which two technologies are involved during a takeover event on an ONTAP cluster? (Choose two.) 

A. Advanced Disk Partitioning (ADP) 

B. Storage VM (SVM) 

C. Storage Failover (SFO) 

D. Aggregate Relocation (ARL) 

Correct Answer: AB 

Reference: https://www.zumasys.com/2015/01/19/netapp-insight-2014-two-game-changing-technologies-part-2/ 
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QUESTION 4

Your customer wants to purchase a NetApp SolidFire storage cluster. The customer wants to know the minimum
required nodes per cluster. In this scenario, what do you tell the customer? 

A. Three nodes are required. 

B. Four nodes are required. 

C. Two nodes are required. 

D. Six nodes are required. 

Correct Answer: B 

 

QUESTION 5

Your company has decided to move an on-premises application to the cloud. The application\\'s data is currently stored
locally on a physical Red Hat Enterprise Linux (RHEL) server. Which NetApp solution would be used to migrate this
data to an Azure NetApp Files volume? 

A. SnapVault 

B. Cloud Sync 

C. SnapMlrror 

D. AzCopy 

Correct Answer: C 

Reference: https://docs.netapp.com/us-en/netapp-solutions/pdfs/sidebar/Red_Hat_OpenShift_with_NetApp.pdf 
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